Name: Teacher: Week 1 Assignment

Rounding Numbers
Step 1: Underline the place value in which you want to round.

Step 2: Look at the number to the right of that place value you want to
round.

Step 3: If the number to the right of the place value you want to round is
less than 5, keep the number the same and drop all other numbers.

If the number to the right of the place value you want to round is 5
or more, round up and drop the rest of the numbers.

Example: Round the following numbers to the tenths place.

Tenths
2 1s less than 5 so keep
1. 23.124 TR T—— 23.1
R s
2. 64.2685 6 1s greater than 5 so add 64.3
=2 one to the 2
1
3. 83.97 7 1s greater than 5 so 83.9721 84
add one to the 9 Sl ST
84.0
Round the following numbers to the tenths place.
1. 18.6231 6. 0.2658
2. 25.0543 7. 100.9158
3. 3.9215 8. 19.9816
4. 36.9913 9. 17.1083
5. 159199 10. 0.6701




Name: Teacher: Week 2 Assignment

Evaluating Expressions

Example
Evaluate the following expression when x = 5

Rewrite the expression substituting 5 for the x and simplify.

a. bx= 5(5)=25
b. -2x= -2(5)=-10
C. x+25= 5+25=30
d. 5x-15= 5(5)-15=25-15=10
e. Ix+4= 3(5)+4=19
Evaluate each expression giventhat x=5 y=-4 z=6
1. 3x 5. y+4
2 Vg 6 5z-6
3. 3’ +y T Xy +z
4 2(x+2)-y 8. 2x+3y -z



Name: Teacher:

Week 3 Assignment

Combining Like Terms

What is a term? The parts of an algebraic expression that are separated by an addition or
subtraction sign are called terms.
The expression 4x + 2y — 3 has 3 terms.

What are like terms?  Terms with the same variable factors are called like terms.
2n and 3n are like terms, but 4x and 3y are not like terms because their
variable factors x and y are different

To simplify an expression, you must combine the like terms.

Examples: Simplify
1

Sx + Bx

5x + 8x = (5 + 8)x @

3. Ix+4-2x+3
3x—?_x+4+3=(3—2)x+4+3@

Practice: Simplify each expression

1. 6n+5n

3. 37z+4z

6. 3n+1-2n+8
7. Tt+9-4t+3
9. 4r+3r+6y -2y

11.2m +3n—-4m + 5n

2. 3y—-6y
3y -6y :(3—6)y@

4. 2b+5c+3b—6¢
2b+3b+5c—6c=(2+3)b+(5—6)c

2, 25b + 15b

4 x—5x

6. 4f+5f—6+8
8. 2k +4 -8k-1

10.  8g+9h-4g—5h

12 a+5b-2a+9b



